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���$��40��" (response surface methodology) %44 mixture design �4$ � �����0 $� 
#�"$��HI,�4.�1��2�&02 3)� ���"�#�$���-�& 69 �02��4����,)�-���-�& 31 (+,-�
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N2 O0 #��$+�,��)1�"!��#��$+�,./�O���������� ��!�����"�#�$%�&'�(�)*.�1N,�2�3$�20�2��H                
O�������&����1/� 0 $�0��$&���O��3$�2����.�1��2�&02 3)� ���O��3$�2����.�1�I����2�                
90 �"���Q��Q�-0 ��� 10 ��.� %�&./�������&���,�$-������2%2����Q�-2Q���R����-�& 3 
#�"�
/�����$��HI,�4%�&O*��$�����&������ 40 ��.� �����$��3��&��3I����#�"���������            
.�1N,� �4$ � �������� ��!�����"�#�$%�&'�(�)*.�1N,�2����2��3$�2*)
����-�& 71.44 ± 0.11              
+��������-�& 15.67 ± 0.02 N#2�����-�& 6.49 ± 0.04 �0��O-���-�& 0.10 ± 0.01 �H�����-�& 
2.07 ± 0.14 %�&3���+4NX�,�����-�& 4.23 ± 0.09 (+,-�
/�����0,) ���2��!I���.��-�.�
"�2,
�. ���4 2.3 x 101 +3+���� ����2 ���2��-�0��%�&�����-�$ � 10 +3+���� ����2 3 � TBA �. ���4 
0.06 ± 0.00 2�������22�+����,�NX,�� ���+����2 3$�2%#\"�. ���4 448.80 ± 4.95 ���2                      
3$�2-),�-I ��. ���4 0.76 ± 0.05 3$�20�2��HO�������&����. ���4 0.45 ± 0.04                              
3 �$������%�3��$���
�. ���4 0.99 ± 0.00 %�&���-�&���#�4�
/����!���!��. ���4���-�&             
20.74 ± 0.02 %�&����	�
�+3�"0���"#�"�������� ��!�����"�#�$%�&'�(�)*,�$-����"
!I�.���������\�����%440 �"���, �4$ � +3�"0���"#�"�������� ��!�����"�#�$%�&'�(�)*
��&��4N�,�$-��I��3.�12����
�&.�"��22����&���������I 2�- �"��$2^ +,-2���I��3.�12�
#��,O�( %�&2����
�&����%� �-�$%.���-� .�1$N� * �"$ �"2�#��,O�( %�&N2 021/��02� 
����	�
���-I�����\4���
� �4$ � �2)1���\4���
��������� ��!�����"�#�$%�&'�(�)*O��� �"
���0����_,0��..�1�I����2� 4 �"���Q��Q�-0 !&2���-I�����\4���
� 5 $�� 0 $����.,0�4            
���-�2��4 �4$ � �������� ��!�����"�#�$%�&'�(�)*2�3&%��3$�2*�4,���0� ���1��0 �0*��� 
��)
�0�2��0 %�&3$�2*�4+,-�$2�. ���4 5.70 ± 1.15,  5.30 ± 1.25, 5.11 ± 1.31, 5.58 ± 1.40 
%�& 5.39 ± 1.23 ��2�/�,�4 %�&��I 2���4��+�32�3$�20�O!Q)
������������������ ��!��                 
���"�#�$%�&'�(�)*O��&,�4��!!&Q)
�%�&Q)
�%� ����$2���-�& 42.7 %�&N2 %� O!���-�& 37.7 
+,-���I������.�10�O!Q)
�3)� �������������.�12���&+-*��� �0I#��� 

 


